Honors Algebra 1 Name KE\I ID: 1

R10 KUTA Practice Test (NO Calculator) Date Period
DIRECTIONS- CLEARLY SHOW WORK TO RECEIVE ANY CREDIT!!!!

Solve and check by Graphing.

1) Clearly graph each function and label the graph with key features: Y-INTERCEPT(Y),
vertex(V), axis of symmetry (AS), and solutions (X).

2) Clearly show calculations for the vertex and axis of symmetry.

3) Clearly plot S points and provide the table for these points. hepe o

4) Identify solutions by writing "SOLUTIONS are x=..." S /»} \)
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Solve each equation by taking square roots.
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Solve each equation by Completing the square.
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Solve each equation with the Quadratic formula.
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Solve each quadratic equation using any algebraic method (taking square roots, completing the

square, quadratic formula, or factoring)
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Standard Quadratic Equations - Clearly show work!!!!

1) Put in the equation in standard form. Keep the X-SQUARED term on the left side of the
equation. Clearly show work.

2) Describe the shape. Justify.

3) Find the y-intercept. Justify

4) Find axis of symmetry and vertex. Clearly show work.

5) Find the discriminant of each quadratic equation then state the number of solutions. Clearly
show work and explain your answer.
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A hawk, flying at a height of 64 feet, spots a rat on the ground. If he dives down to catch the
rat at a speed of 48 feet per second, how long will it take him to catch the rat?

19) (a) Sketch and label the graph. Include

20) Find the time. Clearly show your work.
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21) Calculate the height of the hawk after 1
second. Clearly show your work. (1PT)
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